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QUESTION 1

Which of these statements is false when using the import-route command to import routes into BGP? 

A. The import-route command can import IGP routes, direct routes, and static routes into BGP. 

B. A process ID must be specified if OSPF routes or RIP routes are imported into BGP. 

C. By default, the origin attribute of imported routes is IGP. 

D. Routing policies filters the routes imported from other routing protocols. 

Correct Answer: C 

 

QUESTION 2

Which of the following concepts should a network administrator know while using VLSM technology for subnetting?
(Select 3 answers) 

A. A subnet is composed of only summarized routes. 

B. A subnet can address a host or be further subnetted. 

C. The routing updates must carry subnet mask information. 

D. The summarized networks must have the same high-order bit. 

Correct Answer: BCD 

 

QUESTION 3

Which of the following route entries matches ACL 2001 that is defined below?
1.0.0.0/8,1.2.0.0/16,1.2.3.0/24,1.2.4.0/24,1.2.5.0/24, 1.2.6.0/24,1.2.7.0/24,1.2.8.0/24 ACL 2001 Basic ACL 2001,1 rule
Ad\\'s step is 5 rule 0 permit source 1.2.0.0 0.0.254.255 

A. 1.2.3.0/24,1.2.4.0/24, 1.2.5.0/24, 1.2.6.0/24,1.2.7.0/24,1.2.8.0/24 

B. 1.0.0.0/8 ,1.2.0.0/16,1.2.3.0/24,1.2.4.0/24,1.2.5.0/24, 1.2.6.0/24,1.2.7.0/24,1.2.8.0/24 

C. 1.2.3.0/24,1.2.5.0/24,1.2.7.0/24 

D. 1.2.0.0/16,1.2.4.0/24,1.2.6.0/24,1.2.8.0/24 

Correct Answer: D 

 

QUESTION 4

What does the IP-prefix-filter "ip ip-prefix test index 10 deny 0.0.0.0 0 less-equal 32" mean? 
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A. Matching only default routes 

B. Matching all routes 

C. Denying only default routes 

D. Denying all routes 

Correct Answer: D 

 

QUESTION 5

Why is BGP run by core routers in transit AS? 

A. To eliminate route loops 

B. To ensure the transmission of data packets to the external destination addresses 

C. To optimize network within an AS 

D. To ensure only one export 

Correct Answer: B 
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